Math 1113 Quiz 1 Summer 2024

Name: ‘&/M GTID:

Answer the questigﬂJn the spaces provided and your answer. Organize and show your work
for full credit.

1. Find (AUB)N(CUD,).

A={1,2}, B=1{1,35}, C={2,4}, D=1{234}.
AB=%123U%1,3,55 = 4,2 3,57
CUS = $2,3.47

Bopn (coy= 4123555238 = [§2,33 |

6
2. Simplify: (i—) (23:3/_1)3
Y

%3 4353

20 g B / 3

3. Simplify: (z* +z — 2)(x — 3)

(A21-2Y0¢ + (%-2) (-3)

= X AE 2y — 32 - 3x +0b

= Lxg-zi— 67(-\-@)&
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4a. Solve: 42> +x—3=0

Hint: quadratic formula. -l-3 e 4>
L 2—UAC RS x= -g
x= "bels
=

A = X TETTTEY Z\ . ,
2.(4) (t\_,j/z,

P —if ‘114—48 - -\j(ﬁ(:a _ —lxz

) & ]

4b. Factor: 422+ 2 — 3

Hint: use your answer from #4b.
al+ approzci (ﬂﬁl o o)

L P

7\ /K 4 «13)=1.

x=- | MU -3 = U - Yx—3n -3
= e (x+) + (-0
5. Simplify: ;1_0i Z[ &X"g\)a'('@ \/

—\0 ' n
«-3tv _ +30-104 20 -0\
-3-( 3+ 2 - = 20-(O¢
9- 1+ | O

=12-¢ |
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